O #3[a] ALERALFEE R (IEZHITRDEE)
TEZEH% TN—TA—La—RIL AERRELSE
[ roo — roo3
AHLEZ s lEH 1 S2EH i eI0] = I
. AtL£EE (Fidk) [IBfG |AfL£%E (Fetk) |IEGT (A LS5 (Fidk) |IBf:
(B AL+ S50 6,420,000 2 B
THERIXGR 6,470,000 3
(#R);r mn#H 6,560,000 5
FEERTE R 6,500,000 4
(BR)=EIEE 6,350,000 1 EZTN
COPPEIER 6,600,000 6
IE(FH) %A P &HHR—ILEN ;E_EEEE%E%&
AHLES =1EH Z2EH FoEE T .-
ALEgE (k) lBf6r | A+L$28 Fetk) [IEfr |AFL$3E (Fitk) |IEGL #"‘
BELEZAS 3,300,000 1 B
BEEVITRYHIAIAN 3,350,000 3
BE)EHET 3,330,000 2
IE(FH) 4 BHR—ILHK Am/K s R L=
ARLEE [___ZF1EE F2HH A= I [
AtL£EE (Fidk) |IBfG |AfL£%E (Fetk) |IEGT (A LS5 (Fidk) |IBf:
(HEEIX 39,100,000 2
(B)/ MBS TE 39,900,000 5
MEAEETTE®D 38,700,000 1 EAL
KXHAIEER) 39,500,000 4
BEBTERT 39,300,000 3
I=(FH) 4 Xt e ek s B L=
A+LEEE (k) B | A+L$%E Fetk) [IEfr |AFL$EE (Fitk) |IESL "
B IEE L= 4,980,000 2 o
HEEIZE 4,870,000 1 EHL
R ERET 5,100,000 3
I= (2% BINERE T e g m _
% 1[0 B g 2[0H F 30 H
A= EE e R DOEE o) e e e [EE] P
AEERE RE-S I HEEERTERRCER 155,000,000 2
+E-AE Bl ERRERR T EARSZHK 154,500,000 1 E L
T=(F:D% 8L | 3 X BT 7 RS K o T
AES FIEE F2EH ZOEH T s
A+LEEE (k) |l | A+L$28 Fetk) [IEfr |AFL$3E (Fitk) |IEGL
X A FA S 5,390,000 1 SEAL
RIEBREM TS 5,100,000 2




T= (2% LU HE X BT 7 AL Ao Ths
AFLZ 58 edh) | IBT | AALZ %8 (Bidk) |IBfw | AFLE %8 Grik) B |
HEMXFHIES 1,260,000 1 &AL
(BREBHEMIE 1,000,000 2
IT=E(EHDA L;Laﬂi’%tlz%*:‘c%ﬁk%ﬂ\ _ _
F1EH £2B/H s3blH |
e EE R [FE e Ean [Re s an Bl e
X A FA S 1,140,000 1 EAL
R EBREM TS 900,000 2
T= (2% IR I R e R S B R B Lt m
FiGH | FEomH FolH |
— ALES RGN [ N G R RN AG T [Roa Mk
T 2,430,000 1 3
H)T7—k-H)T—F TR &t
(BR)EAHEMERT R
ITE(FR)A By ﬁéﬂﬁ%%ﬁ%ﬁ
TR AFLZEE Gitk) |IEGL | AALZ %8 (idk) |IBfr | AFL2 %8 (Gaik) [IBfL |
FE)GISIE &8 6,700,000 4 -
(#ALEEE BME 6,300,000 1 EFL
FR o HEMfav YL 6,550,000 2
Bl &= BCED) 6,600,000 3
T= (2% BEEE DT IR E R DR
R E AFLZ 28 GRik)_|IBfr [AAL2 %8 itk) |G |AFLZ 28 Ghdk) |IBRz |
3 I 2,350,000 4
REAEEEEM 2,300,000 3
(BHF—a> 2,300,000 3
BBEAXRIE 2,200,000 2
HARE % ET (#R) 2,050,000 1 EZTN
T% (2% mé;‘;a%g'ﬁﬁ'& N RRES e
ALEE FIEE F2EH Z3EE T e
RIS ) ArLegE (Fitk) |IEf | A4LS28 (Feik) |IEf [AALESEE (Fitk) |IBGL -
O > 7,140,000 1 AL
(B)EAIERET B 7,180,000 3
#)LZaY 7,150,000 2




T= (2% EEAREE S E L m _
s1AEH w20 3[EH
ik EE o EE eE o EE sa i el ™~
(FRILR=vk 3,300,000 2
(3)E B &4k 2,800,000 1 AL
(Bp=yrATFUR R
I=(FH) 4 F xL%E hr T il .
Il FomE FomE |
R EE R [FE [ EEan [Re s an Bl ™
€N =T 4,100,000 2
(BR)E B & Em 3,500,000 1 EFL
(BR=IRATF R iR
IEEH% PINEE T o S S
AL FiEE FomEH ZOEH | n
A+LE58 (Fitk) B | A+L£58 Geik) |IBfr |AFLEEE (Fitk) |IEGL |
HEIVIASR) 6,650,000 1 BTN
SHESIE () 6,960,000 3
BHEHEEH 6,830,000 2
T=(F:D% N—DT LRGN
AL ERIEIE FoBH EFICI= N
AFLZEE Gitk) |IEGL | AALZ %8 (idk) |IBfr | AFL2 %8 (Gaik) [IBfL |
HEEE S 1,553,600 2 o
()RR R—Y 1,763,000 3
(B oHrAaREKR—Y 1,448,000 1 &L
T= (2% PR m _
$1a[H s20H 3[EH
AtLEE EE o BRI eE o [EE sa i el ™~
(#R)ALEEESR 4,953,000 2
RFI=TH—LER) 5,096,000 3
(B)E)IIEE 4,819,100 1 &AL




